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Part I: ;

1. What is the 5-number summary of Salary? (6 points)
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2. What is the mean and standard deviation of Age? (6 points) |
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3. Answer the following questions based on your pivot table. S
randomly selected from the pool. '
a. What is the probability the person is a female? (6 points)

\2/’30 - 2/3'

b. What is the probability that the person is has opinion 2? (

pose a survey respondent is

points)

¢. What is the probability that the person is both female and

d. What is the probability that the person is female given tha
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as opinion 27? (6 points)

they have opinion 2? (6 points)
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f. Whatisthep
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g. Are the variables Gender and Opinion independent? Why
your conclusion. (10 points)
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5. Using your histo
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robability the person has opinion 2 given thdt they are female? (6 points)
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robability that the person either is female o as opinion 2? (6 points)
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6. Looking at the box plot (and descriptive stats) of salary, is thi

you describe tha
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8. Looking at the scatterplot of Alcohol Usage vs. Blood pressul
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t evidence as strong or weak? (6 points)
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raph of opinions, which opinion ranking app@ars to be the most common? What

urvey takers reported that opinion? (6 points
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2, report the linear regression
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10. What is the R? value of the stronger relationship? Interpret|

context of the d
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king and blood pressure? (6 points)

hat this value means in the
ata. (8 points)
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11. What is the mez
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Calculations in Excel: (1)
Part Il:

13, Supbose that the

nand standard deviation of the probability dlistribution provided? (8 points)
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0 find a p value that creates a binomial distripution identical to this data?
ue here. (6 points)
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40 points, (2) 28 points, (3) 15 points.

> annual return on XYZ stock follows a norm ; distribution with mean 15% and

standard deviati

a. Whatisthe
return will b

b. What s the

c. For what per

value? (8 po

n 8.3%. I
Erobability that XYZ's value will decrease dur
e less than 0%) (8 points)
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robability that XYZ's return will be greater t
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cent return value does XYZ stock have only
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g the following year? (i.e. percent

|
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d. What is the probability of XYZ’s rate of return will fall befween 10% and 18%? (8 points)

| 36.737%

14. Suppose that C(%mdell Computer receives its hard drives froffd Diskco. On average, 4% of all hard
disk drives received by Comdell are defective.

a.

anything once tfi1e exam is submitted.

Comdell ha# adopted the following policy: It samples 50}hard drives in each shipment and
accepts the‘shipment if all hard drives in the shipment afle not defective. What fraction of
shipments will Comdell accept? (8 points)
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Suppose insitead'that the shipment is accepted if at mosf one hard drive in the sample is

defective. What fraction of shipment will Comdell accegjt? (8 points)
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What is the ‘proba bility that a sample size of 50 will contfiin at least 10 defectives? (8 points)
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P(Aor B) = P(EA) + P(B) — P(A and B) P(AlB) = P(Aand B)

u=

P(B)

E(X) = S Ap(x) o2 § Var() = S0x — 2p(x)

“tfinomial =np inomial = NP(1 — )




